AtLFERR

AtLIZfFL-FIR

THIFE HEEARFEREXIMNEEX(REB RE-2HOKR FEMEKIE

A EAB 4 34 8 A 11 B|FEMIE CHERIKRE) ¥21,817,273
FIER BRR
AHE =% (M Ayt—o ®5%E

1 |ARsit wLUERTE 21,300,000 RE

2 |JlROEHE =4 21,550,000

3 |z KMEH 21,800,000

4 MR NEERZEE 21,817,000

5 |#MAet HEARE 21,817,273

6 |t ®REE 21,817,273

7 Mt HTEE 21,817,273

8

9

10

11

12

13

14

15

16

17

18

X SEOFEHIRME R CRIEHRBEEEETROEESYTT,
B K ) R A % 19,308,287 M
ARSI R i1 2 88.50 %




AtLFERR

AFISHLEZEE |FH8FE LKEFEE ERRRICHSIEKEMREIEZE E15HK)

A EAB 4 34 8 A 11 B|FEMIE CHERIKRE) ¥10,280,000
FIER ETKER
AHE =% (M Ayt—o ®5%E
1 [ARstt SMIKEIHERE 10,200,000 RE
2 |BA=tt BEER 10,278,168
3 (M= #HAME 10,280,000
4 |ARst ABKEIE 10,280,000
5 |EFIKE 10,280,000
6 ARt VLEYDKEESR e
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¥ SEOREFRMERVREFBRMEEEITROESYTT,
= 1K il PR i 1% 8,949,768 H
S HIR ffiAg = 87.06 %



AtLFERR

AtLIZfFL-FIR

THBFE N\IT77)-BHEEX SHF-/\ARKR ABEFELIE

A EAB 4 34 8 A 11 B|FEMIE CHERIKRE) ¥4,610,000
FIER HRFES this®igig
AHE =% (M Ayt—o ®5%E

1 |ARsit wLUERTE 4,480,000 RE

2 R =H 4,550,000

3 |AR=# R 4,610,000

4 |BA=tt FHKEE 4,610,000

5 |ARst BIMER 4,610,000

6 |AR= BEHHRE 4,610,000
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X SEOFEHIRME R CRIEHRBEEEETROEESYTT,
B K ) R A % 3,990,416 M
ARSI R i1 2 86.56 %




AtLFERR

AtLIZfFL-FIR

THIFE TEMESE HET-H/ER HETRIE

A EAB 4 34 8 A 11 B|FEMIE CHERIKRE) ¥10,602,728
FIER HRFES this®igig
AHE =% (M Ayt—o ®5%E

1 (et NERREE 10,500,000 RE

2 (XK= HEM 10,600,000

3 |JOEE AR 10,602,000

4 |BA=tt BRAEE 10,602,728

5 |t ®EAE 10,602,728

6 |KA=tt FTEE 10,602,728
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X SEOFEHIRME R CRIEHRBEEEETROEESYTT,
B K ) R A % 9,144,852 M
ARSI R i1 2 86.25 %




